2 8 # 3R BT w8 1 e A e 4

$w shAHm SAm - MTH| B F1ABAE

o R AR 2 - B AAHFRRE G R R Lk LA T RIS BAMAF S
m B RRMERLEE(ER) - (G s) -

x R B

i mmERANSRAE  FRAMETHY
BARE  RE W E6T ABM (M2 A8 D)

1. 2. 3. l4. |

BARE RECA A6 BEM (M2 A8 5)

1. 2 s 4. i

foi LB ER iu—t LEEE — ﬂ*ﬁﬁﬂﬂ#&(*)#—fn (3R)RA 4
;g.

|

1

BAE  EAR k6 REM  (RAR1H K346 5)
L 2. 3. la. 5. l6. B
SRE T £ EM (R A H) :
L 2. 3. 4. 5. }
6. 7. 8. L
BARE Bk £H SIS (EM24 0 AW H) o
L. e l3. 4. B
SAE btk 20D REM (B2 A BH)
oo 2 l3. 4 |
k:ﬂ*!:#‘i%#* 265 BB (BM1 5 hit85) '
I 2. 3. 4. 5. -
6. 7. 8.
BAREC BEA 265 BEM (M1 AHER)
L iz l3. l4. 5. b,

mg:Mm[ £ 67 #asaul (BAR2 %+ #H6H) ,
1. 2. 3. '

loms: B 265 B8 (BM24 - A 8N)
S ) l3. la. |

Bk SRt A6 R (BM2A 0 A 65)
1. , 2. 3.

lpme: nsm 26 B8M (BM25 - H#H85)

L iz l3. n B

pag wxE 26 984 (vawu})

1. 2.
AR WAL T FRM (-&#EZ’\' $#3H87) :
1 l2. 13. . o

2 ( 72/ )R




Bt Bem At=- BFEEF__— e gp g (R A R4 GR) A&

A & # 2 BB # Y A L il " g3

%

% ShAHR st MFw| 3£ 1 A8AF B

m BRMMERLRAB(RR) (2B -

|HE B A oo W REARARRREERAME BT R 0 BRI TR E 3t

92( E)Bw s KA M HAEET - RFH
AR (HM2 Y R 8

1.( ) M PSR 5 o EARRE ¢
(MU@k+ﬂé&ﬁ%%z%%%i%m&%ﬁ%ﬁ%ﬂa%mﬂ%i%ﬁ@

(mm&%ﬁ%$uammpwlﬁ£%mﬂ%ﬁé
(O 8y 7175 B ML/ RS B 2F W) |
(D)@ A3 1444 & B i (down syndrome) ¥ & & -+ =45 B B % '
BN RAAFFRERN 40-50% 4 &
2.( ) § i w7 (Gastroshcisis) & [l 7B R i 5 (Omphalocele) Wy A X
(A) £ R 30 % B S AL 1h 68 PO B 42 — #C
(B) Mo 71 & 4 1R SL &Y IR
(C)RL 0 13 Wi T % B £ mioA B EAY i
(Nﬁ%%%&%mmm%%ﬁ%&ﬁ%%ﬂuﬁﬂ
(E)fa &t F 45 4 kB R LR — 8
3.( YEMARMERIE ERHA -
(A EW KA 2 %488 [-line (ischial-line) # T4 X Aafr
(B) R & — |85 F A & Rl R 3 & A & °T % LAGAT cut back Z AR T4
(C)ﬁdiLHk#ﬁ(Ivertogram)ﬂkéEé%ébisz P-C line (pubic-coccygeal line)
EOl Y A
(D) 514 ey HEAR M A 04 B 40L& B 4P ~
(DM&%%@%R%%EE#%&HMK%%uﬁﬁﬁﬂwmﬂﬂemMmHmﬁ%&
4. ( Y & A ik Mk (esophageal atresia) EHREL : '
A) ?ﬁmﬁ%ﬁmﬁﬁ%%ﬁﬁ%Zﬂﬁﬁﬁﬁ
(B) MiTAMBsAR 2z E (Nelaton tube) 1277 fk AR B MR E S
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1. ¥hich of the following is correct?
A.  Surgery plays an adjuvant role in the treatment of cancer

B. The best area for biopsy is the zone of necrosis.

C. Enucleation is the treatment of choice for malignant tumor.
D. All of above

E. None of above

2. Which of the following is correct?
The severity of the underlying me
Although perioperative mortality is high re
for cancer management.

C. Absence of metastases is a factor making surgery successful.
D. Aand B

E. Aand C

3. ¥hich of the following is correct?

dical diseases is not a major concern of operative risks.

o >

A. A successful surgery should remove t
healthy tissue. .
‘ B. If surgery would cause the disease to worsen, cancer should not be advised.
‘ C. The tumor can be manipulated without causing any adverse influence.
~D.. "A and-B _
E. All of. the above o

4. Which of the following is incorrect?
Multidisciplinary therapeutic stra
A good surgical oncologist should be able to conduct teaching programs

research.
C. In addition to play a major role in the treatment of primary tumor, Surger

caused by other cancer treatments

“All of the above
None of the above

tegy is advocated for cancer treatment

o >

lative the probability of cure, surgery is still a good choice

he primary tumor together with a reasonable maréin of the surrounding

clinical research, and experimentall.

y also treats the complications
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1. Which of the following about coronary blood flow is NOT correct?
(A) Normal coronary blood flow approximates 70-99 cc/100gm myocardium/min
(B) The unit myocardial blood flow is 10 times higher than the rest of the body
(C) The oxygen saturation in coronary sinus is lower than that in SYC or IVC
(D) Coronary artery blood flow occurs primarily during systole
(E) The extraction of oxygen in the coronary bed is two thirds or more

2 Which of the following should receive coronary artery bypass surgery EXCEPT :

(A) Left main coronary artery sienosis of 70% with no symptoms ,
(B) Left main coronary artery stenosis of 80% with chest pain

(C) Three-vessel disease with 90% stenosis of proximal LAD

(D) 90% stenosis of RCA and CX with no symptoms

(E) 90% stenosis of proximal LAD and proximal LCX

3. Which of the following are risk factors for coronary artery bypass surgery, . EXCEPT

(A) Age older than 65 years
-(B) Ejection fraction >60%
(C) Female gender
(D) Hypertension
- (E) Diabetes mellitus

4. Which of the statement about surgical indication for aortic valve lesion is NOT correct
(A) The asymptomatic patient should not undergo operation

(B) Progressive increase in cardiac size on serial X-ray should receive operation

(C) Intolerable angina with diastolic pressure below 50 mmig is indicated

(D) Significant left heart failure is indicated for operation

(E) Regurgitation due to bacterial endocarditis usually needs valve replacement

5 Which of the following test is the best guide to monitor warfarin (Coumadin) therapy as an anticoagulant ?7

(A) Prothrombin time (PT)
(B) Partial thromboplastin time (PTT)
(C) Activated partial thromboplastin time (APTT)
(D) Activated clotting time (ACT)
(E) Thrombin time (TT)

6: Which of the following cardiac condition is recommended for endocarditis PROPHYLAXIS ?

(A) Isolated secundum atrial septal defect
(B) Previous coronary artery bypass grafting surgery
(C) Mitral valve prolapse without regurgitation in children

(D) Cardiac pacemakers
(E) Previous bacterial endocarditis, even in the absence of heart disease

g2 L)BmsMmiRAM A 0 T8
B (M1 £148%) B
1. L8 298 & Awm(Skin dinpling) * BT LB THS  LATHRARS |
;1 (a),Breast Abscess
i:(b) Fat Necrosis ,/
7.{c) Leiomyoma

(d) Fibroadenoma
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-12. Bloody nipple discharge & THEREH *

3-8 M2 AHIER 2T —F Mz RLAA—F 4%k (A-C) ARER? (TERRE)

""(a) Breast cancer

"'(b) Page’ s disease

© (¢) Intraductal papilloma
(d) mastitis

Excision
“Nipple Biopsy

Radical Mastectomy

Modified Radical Mastectomy
Mastectomy
F. Needle Localization Biopsy

G. Conservation Operation (§L% 1% +#7)

3.98 KAkt UATFT -2 R4 3 29 A2 & Biopsy A Infiltrating ductal carcinoma,

4.30 R AL s LAERIR I z\fn\zmi": # 2 %2 Biopsy # & Infiltrating ductal carcinoma
5.40 ik BIABEMAIRE  HAA paget’ S disease’ EILE R E L BHBRL

6. & M ILEAER itching » A AASRYELARY  BE 5 tha

7.50 k¥4 » L% 3 & MK - & W manmography R A cluster microcalcification 44 #H L B

8.50 &4 0 A 3 A KA 0 4 biopsy A malignant phyllodes tumor

2 RsBmkAM HAREL  HER

RN (B2 #£3845)
|~ ARG BRAME BIEE L FNA AR RORE fa FORAE 8% FREAR BCRA TR BT BB A K0

Wi (TCA) + e HIRE B IR &L PAT MM -S4 T BARE B 401 K BIE 2 A2 P AL A I BARZNH - AR EE

Mo oW

e
B LA FHTHA B XY SRR ?

(A) B-T shunt (B) Bidirectiona; Glenn shunt (C) Total cavopulmonary shunt (D) Atrial septostomy.

9. (R EM)EE FEMEASRECHFRELT A T i & A0 VSD o FURJE Tk 85% 0 PR - do RO R
S P B EF 4RI A 0L B AT A AR Y LR &ML T FMUTIEFH6R T

(A) Mustrad operation (B) Jatene operation (C) Fontan operation (D) Norwood operation.

3. —4x 3488 Atk 2 BF % & H%EDown syndrome) R EHE LS L RA AR - B ERH RIS RRAA KRS
pEfpovEBIHY TR 2m.cias (left axis deviation) ZHA R Pria B A R T RE S5 HE Ay
(A) secumdum type atrial septal defect (B) perimembranous type ventricular septal defect

(C) AV canal type septal defect (D) sinus venous type atrial septal defect

4. (R _EAE) B AT AL A PI5E% 5k Rl )RR Y6 R 4&3’!.»&dhk&;&ﬁﬂﬁi&i‘ﬁft%ﬁﬂéﬁﬁlﬂﬂkﬁ'%"i‘ ?

(A)— &/ (B) dmRuA (C) $#df (D)A'ﬁ‘iﬁﬁ

92( L) BwsMmRA M AR R

1. The criteriaof “diagnostic symptoms and signs of 5-P' " for the peripheral arterial occlusive disease including

5 the followings except.
(a) Pain:
{(b) Pulseless
"(c) Paresthesia ,
£(d) purple _
i

(e) Paraparesis
% (72 2 4 )R
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2. Which of the following procedure is not an extra-anatomic bypass? '
* (a) Femoral to ipsilateral popliteal bypass
. (b) Right femoral to left femoral bypass
- (c) Axillary to bi-femoral bypass v
{(d) Right axillary to left axillary bypass
(e) Right axillary to left popliteal bypass
3.Which of the following is greatest benefit in the treatment of patients with “Burger’ s Disease” ?
i (a) Sympathectomy
' (b) Oral Vasodilators
© (c) Arterial reconstructive surgery
: (d) Cessation of tabacco use
: (e) Warfarin anticoagulation

4. For “Carotid artery stenosis” , which of the following situation is not a candidate for receiving carotid

" endarterectony ?
(a) The symptomtic patients with 70% carotid artery stenosis
(b) The asymptomtic patient with 80% carotid artery stenosis
(¢) The asymptomtic patient with 75% carotid artery stenosis '
(d) The symptomtic patient with 90% carotid caotid artery stenosis
(e) The patients with symptoms of “subclavian steal” plus 50% of concomitant carotid artery stenosis, and
‘ patent posterior communicating artery
[
VEFI ETTE S T ELRE T B
B (HAL 5 #£1189)
1. %58 Nyhus # 836 205 R840 298 + G RAEB 7 (1) type 1 (2) type 11 (3) type [I1 (4) type IV -
2. F o545 RTERAEHFEMATHE 2 (1) indirect (2) direct (3) femoral (4) obturator °
3. % M S RLSA T S 85474 & 58 7 (1)L patent processus vaginalis # M .(2) % S # % QL sntd DLeH
indirect »
4 — AP ITHES RREAR S B4 incaceration? (1) direct (2) indirect (3) femoral (4) obturator -
5. A M Richter hernia 174 # % ? (1)8hik & antimesenteric side 4 %48 (27 54 G L EX 3 DN X -2 L0

“hernia (D44 x4t e # i E (complete ileus) e A
6. KA BN E A A 2 BEMEHER (1) Bassini (2) Lichtenstein (3) McVay (4) Stoppa (5) Marcy ik -
1. & MBLRESE AL B E W MR T F A 232 2 (DB o/ B (8K AR D (3) il ENEERAL®O)EL

7 1 T : ,
B BHAEAFHER AUGFESHERERT(DWRFAERLE Qudithk (DaRBLAES (DEERAALM:
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1. 44 # 6 % A (hemangioma) ¥y 4c il » FHlf7H A9k 7
() BssLEEilit KoK

:(B) Mast call % prohiferative phrase $ B 3# /o
(C) BEF AR

(D) #2% M & suBi(endothelial cell) REH#4
(E) #t Vascular Malformation #M38 % 5 & %
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2. & ¥ T arie Tattoos BHTHRE R K 5 64 7
(A) Cosmetic red inks

(B) flesh-toned » tan inks

(C) White inks

(D) mr¥i

(B) s E%iE

3 THERAREET ST 9457 4 4 & A 4% 89 4 (chromophores) & A £ /R 7

(A) Reflected
(B) Transmitted
(C) Scattered
(D) Absorbed
(B) maLw¥d

"|4. Kasabach-Merritt Phenomenon % éL4%

(A) # primary platelet trapping

(BY Thromobeytosis

(C) PT, aPIT, variably elevated.

(D) Low fibrinogen level

(E) Biopsy # atypical histolytic picture

5.EMESLE  FHMTH €342 s RiE A% (e g pneunonia’ bronchitis, emphysema %)

‘(A) Ocular hazards

“1"-(B) Fire

S shen o e e

. (B) Argon

(C) Plume and splatter

(D) Electrocution

(E) Skin and surrounding tissue hazards

6. o BRIt B THTHERURRERT

=(A) C02: Laser '
(C) Pulsed dye Laser
(D) Ruby Laser

“(E) Nd: Yad Laser

02 g5 BwsnA M BAERE  HUA

eiEan (B2 A6 H) |

LAganaiiy (ARAh) 8 FHRiEsEE  BATRMKLRER AN W

" (A) Kooland formula 2. 5cc/kg/%TBSA (B) Parkland formula 4cc/kg/%TBSA
(C) Brooke formula 6cc/kg/%TBSA (D) L%k

2. BH B OIHEL— BRE RG0S e A ?

(A) Graft (B)Flap  (C)Construct (D) L% A

3. Sk A A SRR o 4 B4 O $EH 6h % R L I ARAL .

(A) Hypertrophic scar (B) Keloid (C) Spider nevus (D) L%k

02 fEBuwsMMRAA BN BXK
REM (BM2H 0 A3t 85)

I Fol =@kt MacEmEAdE?

(1) £28LVRAV
(2) #£#8A MR trigeminal Neuralgia x & AT A US(nultiple sclerosis) &4

(3) £ &% internal carotid artery £ trigeminal N # entry zone i s compression
ORI 1YY L EERR ES Y
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2. Fol4ifr & HIE?

(1) = X448 * ¥ &4 trigger zone

(2) BMad R FHEFLLTREANEARBE

(3) NSAID A R bR A X 2eh R HRE

(4) 2R BMA 3 At Z bR » U MR] A T ot d

3. F Fl4kidi7 & E oK ? ' ,

(1) Subdural hemorrhage(SDH) 7T 7 % &4 - 2 &L RARE © AFEHRALGHMANR-BURL
(2) — AR A AN BERE B A RS A 1) & SR AR R S AR AR K 5 4 T R

(3) — A &4 F8AM 60 & BAFA WAL L 08 RIFETERR 0%

(4) CT LT & %) hyperdense(white) crescentic mass % 8AF 4 inner table
4. # B Subarachnoidal hemorrhage(SAH)#cidqfy# % 9k ?

(1) % REpaksa S A$ ARG L ok H A

(2) Warning headache % B3 $p#faked ! » # 30~50%

(3) mAEEGA AN, LA 25%% A &4 seizure 1
(4) — 4 SAH A A B R - Fm A G BIZEA — MR T EHILAA » BLifIFA % =M (gradel])

QResBuimpis s HMEG R

BiEA (BM2y 0 #H69)

(). Sedkmp T REE 0% % R 64 R B & (a)Aneurysm(b)AVM(c)Brain tumor(d)Brain abscess

( )2 GDC (Guglielmi detachable Coils)Z A s 5% % (a)Aneurysm(b)AVM(c)Brain tumor(d)Brain abscess
( )3. Guideline of severe head injury RN ()RS S (D) E%R RRCREME(DOHME

R N T T P S S
|7 A (B2 sttt 8 )

the followings is inappropriate management

(1)calcium gluconate injection (2) Check Cortisol (3) Check Ts Tv (4) large dose of PTU
2.( )A patient had bilateral thyroidectomy in the morning,
the afternoon, which is the first thing to do?
(1)Life long calcium supply (2) Open wound with evacuation of hematoma
(3)Thyroid hormone supply (4)Check serum calcium

‘ 3. ( )Which of the followings is the most sensitive test in t
! .- thyroidectomy * :

" (1)Thyroid sonography (2)Thyroglobulin (3)T3 T4 (4)Bone scan

5 4.( )Most common type of primary hyperparathyroidism is
: (1)Chief cell hyperplasia (2)Adenocarcinoma (3)Clear-water cell hyperplasia (4)Single adenoma

B Hphih o

1. ¢ DA patient received thyroid surgery had sudden onset of high fever palpitation, hypertension flush which of

sudden onset of air hunger agitation and restless in|

hyroid cancer follow up after bilateral total
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1. Following a traffic accident, a 40-year old female motorcyclist sustained blunt trauma to abdomen but she was able

Five hour

hospital where she complained of pain in both side of shoulder when she was on supine position. She was noticed to

with a Hb of 8.0 at this time. She also complained of pain in left lower rib cage.
What do you think about this patient's pathology 7

(1) Hemoperitoneum due to stomach perforation.

(2) Due to bowel perforation.

(3) Due to pancreas laceration.

4) Due tb liver laceration.

(5) Due to spleen laceration
2. A [0-year old girl was riding a bicycle that hit a rock in road, so she bumped her abdomen to the handle bar.

started complammg of upper abdominal abdomen associated with nausea and vomiting. Iler temperature was up to 38

pulse rate 108/min, WBC up to 16,000
What is most likely injury to the visceral organs ?
(1) Liver
©-(2) Small intestine
(3) Pancreas
(4) Spleen
(5) Stomach

2 EEBwMIAAM A WAL
BAEAE (B2 A0 A8 H)

1.A careful appendectomy was done for acute appendicitis. The operation wound is classified as:

1 (A) Clean wound.

(B) Dirty wound.

©) Contaminated wound. '
(D) Clean-dirty wound. : '

(E) Clean-contaminated wound.

2 What is the organism that causes a viscus- -contaminated wound infection ?
(A) Staphylococcus epidermidis

(B) Staphylococcus aureus

(C) Resident flora

(D) Streptococcus pyogenes -
"(E)Diphtheroids

s later she started having abdominal pam with abdominal distention. For this reason she visited surgical clinic i

24 hours later she

to go to work.
n a general

have pale face

C, BP 110/80,

2 (92 28 )R
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. For surgical infections, which statement is NOT correct ?
+(A) Usually needs an incision/drainage.
(B) Usually needs a surgical intervention
(C) Usually caused by aerobes.

(D) Should divert/repair a bowel leak when it developed.
(E) Should receive regular monitoring for operative infection.

. For a patient with post-operative wound infection, which statement is NOT correct ?
(A) Usually developed 5 to 10 days after the operation.

(‘B) May develop fever and wound pain.

(C) It is usually the cause of death.

(D) Open the wound and allow it to drain.

(E) Suturing the wound with braided silk. -
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